


1. The cost of a meal for 4 people
is  OMR 20 . If they divide the
cost equally amongst themselves,
how much does each person
pay? 

a. 20              c.    5

b.   4              d. 10



2. What is 49 ÷ 7 ?

a.  4
b.  8
c.   7
d.  9

7



3. Jane has 3 x 4 litres of juice. She
divides the juice equally amongst
12 children. How many litres 
of juice will each child receive?

a. 1 litre
b. 2 litres              
c. 3 litres
d.   4 litres



4. 29 ÷ 1 =

a. 1
b. 29
c. 9
d. Division by 1 is not allowed   



5. Divide 6 tens by 6 ones

a. 10
b.   0
c.   6
d. 60



6. What is the value of 
24 ÷ (8 − 4)

a. 2
b. 4
c. 6
d. 8



7. 42 ÷ 0 =

a. 42
b. 1
c. 0
d. Division by 0 is not allowed



8.   ____ ÷ 9 = 10

a.  9
b.  910
c.  10
d. 90



ANSWER KEY

1. 5
2. 7
3. 1L
4. 29
5. 10
6. 6
7. Division by 0 is not allowed. 
8. 90



Thank you


	Slide Number 1
	Slide Number 2
	Slide Number 3
	Slide Number 4
	Slide Number 5
	Slide Number 6
	Slide Number 7
	Slide Number 8
	Slide Number 9
	ANSWER KEY
	Slide Number 11

